71.

72.

73.

74.

75.

COMMERCE -1
Innovation refers to

(1) Selling products (2) Marketing goods
(3) Creation of new things (4) None of the above
) SOy &N

(1) &S00 omss (2) 3o SrdyoR
(3) 5g S5yPe edfHee 4) DS
Example for profession :

(1) Doctor (2) Businessman

(3) Employee (4) Worker

SNELRE Aol

(1) S&ogo ' 2) FRERED

(3) &Sh (4) SO

Industry related to reproduction of plants and animals :

(1) Primary Industry (2) Genetic Industry
(3) Extractive Industry (4) Service Industry

0050, 20HHO HIDHEBS S0W0POWD SOFD
(1) [FEDE SO1FD (2) (535 S/ FD

(3)  &|ESees SO (4) T OFED

When goods imported from one country for the purpose of exporting to another country
is known as

(1) Trade (2) Export Trade
(3) Import Trade (4) Entrepot Trade

36 3208 J0d JH 63¥08 HSHHD® 88 B¥o Hod BIHDHS JWEIEY
D00 ?

(1) Sgso (2) MDA YKo
(3) BN SIS0 (4) doEdr 3G¥o
The liability of the sole proprietor is

(1) Limited (2) Several

(3) Unlimited (4) All the above

0 Tosr0 220089 TGS

(1) SBoess® (2) 0 eesies
(3) 50N (4) 25

[16]

76.

17,

78.

79.

80.

HUF Law prevails only in Assam and West Bengal
(1) Company Law (2) Dayabhaga
(3) Mitakshara (4) HUF Law

& &304 2ol $E002) HITOSES B0, S8 ForSE’ SrED eHed &5)0.
(1) oda &0 (2) SosrerK )

3) oYs (4) &8 o $580

The Co-operative Societies Act was established in the year
JIE SOETO $5430 Be SOSEYE0E” ©eEVE 530

(1) 1932 (2) 1912
(3) 1956 (4) 1986

A person who gives impression that he is a partner of the firm is called
(1) Partner in profits (2) Partner by holding
(3) Partner by Esotoppel (4) None of the above

2. 558 ST D0PE” FIRED SNy} SSID D gL ?
(1) ogrod iy (2) S5 QS gD

(3) S FHYE (4) DY

The minimum and maximum members in public limited company :
(1) 2and 50 (2) 7and 50
(3) 7 and unlimited (4) 2 and unlimited

SHE OWEBE LobAE™ ¥, HOASH KO, Hghse [og;

(1) 25805 50 (2) 7 0005w 50

(3) 70050 9:50E50 (4) 2 308a5m 93500850
A company, whose share capital is not less than 51 percent is called as

(1) Public company ) (2) Pnvate company
(3) Government company (4) Registered company

Sore $5508° 51 FTR ET°) S SLOG® 6) K009
(1)  SHE Ko 2)  (HoNIES o1

(3) (58HSg Sodw (4) 0E3E Kow
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81.

82.

83.

84.

85.

This document is called the constitution of the company :
(1) Articles of Association (2) Prospectus
(3) Power of Attorney (4) Memorandum of Association

5 (@) KON TE0MED 9 BOLT.
(1) %o JAHIrS0 - (2) SBI0DH S0

(3) S:56ep o) (4)  DORLH H(ES0

Which section of the.Companies Act defines Prospectus ?
E0DR) 808D 2 VYN SVVAD J(@°N) W00 ?

(1) Section 2(2) (2) Section 2(28)
(3) Section 2(36) (4) Section 4(5)
The following is the source of long term finance :

(1) Shares and Debentures (2) Public Deposites
(3) Lease Financing (4) Bank Overdraft
30 OS5 I I3

(1) erew, GBoSy (2) 385 A2y

(3) e deSw (4) @50 L3O GR

These shares represent the ownership of a company
(1) Equity Shares (2) Preference Shares
(3) Debentures (4) None of the above

58 TPETOD KO CIPesirRisd) TerenrT HHQND.
() Sedeed reren (2) Q5 Terw

(3) &Boisy @) DI

Bank ﬁllows the firm to withdraw the amount more than the balance is called as
(1) Cash Credits (2) Advances

(3) Loans (4) Overdraft
8 perd &%) dog K08 JOP ol LG &0, SORW  EyoiGER)
D300e3°DH ?

(1) 3‘55\ Lgdés (2) @G‘Sﬁhﬂb
(3) eere 4 L3boy
[18]

86.

87.

89.

IDBI was established in
IDBI" 3Sy¢d 35!3015::-&.‘6& ?

(1) June 1964
(3) May 1964

(2) July 1964
(4) August 1964

The enterprise whose investment in plant and machinery does not exceed ¥ 25 lakh is
(1) Small Enterprise (2) Micro Enterprise
(3) Medium Enterprise (4) None of the above

aDo 05008’ Deperd &r. 25 oFe oS HoP D ?
(1) DS 503 2) g voy

(3) FEES* Soy @) IS

A company which operates in more than one country is

(1) Foreign Company (2) National Company

(3) Multi-national Company (4) None of the above

2,563 508) D)3 BaE TG TEEODOD DIroB HOPOR DO ?
(1) 238 Soge 2) =8ab Jogen

(3) 5VY EAADH SoPe 4) DY

ATM stands for

ATM e

(1) All Time Money (2) Any Time Money

(3) Automated Teller Machine (4) Nong of the above

E-Trading means

(1) Selling of Goods | (2) Selling of Services

(3) Buying and Selling of Stocks (4) Selling of Goods and Services
E-385350 e

(1) S5O 83850 (2): 5O BT

(3) 2EFoRw) Hod e @) 33 D30 ey ESD
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91.

92.

93.

924.

“Entrepreneur is a person who organise, operate and assumes the risk for business

venture.” — defined by i I8 Y
(1) Peter F. Drucker (2) Cantillon )
(3) The American Heritage Dictionary (4) Evans !y

TS 5)R S0 SRSS, sy dovgves O 8y, GO0 He§-SgSPSLco".

@ A0 IS00 ? +

(1) &8 3D. &% Q) sSoS

(3) & DOLS T70&38 &¥S6 @) 35

Entrepreneurs who are cautious and not ready to take up risk are called as
(1) Innovative (2) Fabian

(3) Imitative (4) Drone

P IEShen HOAD By, BWEBEOS’ FoBESED SSYPsHe

(1) &5 50y (2) AT

(3) 8GN (4) '.96 AR

The relationship between entrepreneur and entrepreneurship is
(1) Ship-sail (2) Person-imitation
(3) Creator-creation (4) All of the above

%53;55)3& 555%55652&‘.0 D55 DOOLHIW

(1) &8 - 350 (Sareasw (2) 3§ - 00856

() IRG-BH “4) 23

Wholesale trade means

(1) Buying of goods in bulk (2) Selling of goods in bulk

(3) Selling of goods in low quantity  (4) Buying and selling of goods in bulk
5% SEDE e

(1) ) S0Sreasnd’ SPHo Softe

(2)  Jx0pS SBETESNE” SKPHo enEsw

(3) %) SOSrEasNS’ SiHo e ENn
(4) 28 305r0508" $iHo SR Hddk &350 8500
200

9s.

96.

98.

gl i 2

These retailers are very commonly found in all the places :

(1) Cheap-Jacks it - (2) Street traders ~
(3) Hawkers 7 (4) Market traders

62) P08 g Dgrtesom EIH6S, Db SEHODH DD HenDtH ?

(1) bﬁ-wEJ
(3) S5,

2) O SEHew

(4) Sro SgHen

The SEZ Act was passed by the Parliament in
SEZ Se3) SE0tné™ dSpth (S 26T ?

(1) May 2005 (2) July 2005
(3) June 2005 (49) May 2006

The following organisation is developing the SEZs in Andhra Pradesh :

Se (808 S0} &0|G338 &' SEZ 0 533 5A305D.

(1) IDBI ~ (2) APIIC

(3) APSEZ (4) ICICI

The main aim of SEZ is

(1) To develop lands (2) To develop local markets
(3) To attract foreign investment (4) aboveall

SEZ GBo%), S095 &390

() gorsno o95H3 (2) K IrTey ©HHHY

(3) 38 degecdod esPove  (4) DI

Banking Regulation Act was enacted in
e5080f BIOBS SETR VIS BOSH BN

(1) 1936 (2) 1949
(3) 1980 « B B

Find out the Private Sector Bank from the following :

5 (808 38 (Sowden woHH HROBOG.

) SBI (2) AB
o B @ R

[21]
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102.

103.

104.

The principle of indemnity is not applicable to
(1) Marine Insurance . (2) Life Insurance
(3) Maedical Insurance (4) Fire Insurance

S8 Srso 308 HSrH 5Qo.

(1) J50E H3» 2) 22 DS

(3) b PS> @) oh dsr
Transport creates

(1) Time Utility (2) Both (1) and (3)
(3) Place Utility (4) Money Utility
Eed O (SArET) $9y08 ? |

(1) S0 (Sadresd=n (2) (1)00a5» (3)
(3) o PAATreISw (4) (B35 (SAoresSSw
The following mode of transport is possible for door to door collection and delivery :
(1) Rail Transport (2) Water Transport
(3) Air Transport (4) Road Transport

S 1808 Garer Ong0° 30630838 HHH Tares® FE5HeHod.

(1) O Sares 2) =0 ST

3) Tasd Sared @) & soer

The following is the instrument of Money Market :
(1) Disaster Bonds (2) Deep Discount Bonds
(3) Call money (4) None of the above

300 Te3&° (¢5i55 50 ;50 DB ?
(1) JsYerotd (2) Q¥ AP o

() S @S0 @) 3=P

Which exchange is established on the lines of NASDAQ in USA ?

(1) OTCEI (2) BSE

(3) NSE (4) All of the above
USA &0 NASDAQ Sr88r Jomyta e0owis J8yoef

(1) OTCEI (2) BSE

(3) NSE 4) 22 £y 0%00°

[22]

106. SENSEX means

107.

108.

109.

110.

?03353 (DPaTand

|

(1) Book Index (2) Sensitive Index
(3) Page Index (4) None of the above

NIFTY consists of how many companies ?
g AR K01 KA A 2

(1) 30 (2) 40
(3) 50 4) 60

The Consumer Protection Act was established in
: :
DIBrRTO BEea 5630 IIythd G)eod ?

(1) 1976 2) 1978
(3) 1986 (4) 1988

AGMARK shows quality on which product ?

(1) Cosmetics * (2) Medicines

(3) Agricultural products (4) Gold

e&)ﬁ;’mrsb DD (QO0VN SV .
(1) o559 INIW (2) DHoew

(3) 55;5&0‘.&). GSAw (4) 2orrod

If the value of the goods and services and the compensation claimed is more than
X 1 crore can be filedin
(1) District Forum (2) State Commission

(3) National Commission (4) Supreme Court _
Siioifen 3 555 Hiso Dev, 50 SOTESM &r. 1 563 577 D0y &taond d¥s

:30‘5653 Do5rd ‘?

(1) Bep P @) TP EDIS
(3) b S () 0 S

[23] Turnover



111.

112.

113.

114.

115.

COMMERCE -l

The Art and Science of recording business transactions : L sl
(1) Accounting .+ (2) Auditing , ) 164
(3) Book-keeping (4) None of the above :
T SSFoom THAD 38 T8 V3G oo Pidd o S

Dotrd ? ‘

(1) e oedoh : (2) es&eloh

(3) enE&boR @ =P

This concept is the basis for Double entry system of Book-keeping :

(1) Cost Concept . (2) Dual Aspect Concept

(3) Matching Concept (4) Accrual Concept
83083 IS & ($00 G'SS PASOEM &otnod.

(1) SgaDerss (2) 508 &S g

(3) 230D grSS (4) Sdren g5

Capital is equal to

(1) Assets — Liabilities (2) Assets x Liabilities

(3) Assets + Liabilities (4) Assets + Liabilities
S0r0SiS50 e 1308 DLEBEI HHHB

(1) &R - &3p™ (2) e x eﬂaﬁym

3) &R + eSypen (4) SR + OJpew

The process of recording the transaction in the Journal is called as

(1) Balancing (2) Posting

(3) Joumalizing (4) None of the above

Dapd’ Se5Foros oo (580D D8 ?

(1) dog 88y (38D 2) I (S8

(3) DeFIE S8aH 4) 2P

Outstanding Salaries is a

(1) Real Account (2) Personal Account

(3} Nominal Account (4) None of the ﬂbO\'E
BYoBSONS Lore ) PTH 08I ?
() T (2) 3818 o
(3) TDHISY TE @) 305D

j24]

116.

117.

119.

120.

The excess of debit total over theléredit total is'called as

(1) Debit balance (2) Credit balance
(3) Over balance (4) Under balance

84¢5 Ando Sodl anes 300 IFTT EHe3008 2 Doy Wb ?

(1) GO o (2) B4 deg
(3) A5 dog (4) S dog
Purchase of a Laptop on credit is recorded in
(1) Purchase Journal (2) Sales Journal
(3) Retumns Outward Journal (4) Journal Proper
DY E%) T DD JeS55¥E0 SAreh Dok HRESD
() Sof‘en De 2) ©Sso O
(3) S0VS TIDyo VT (4) ©do VT
The petty cashier generally works on which system ?
(1) Cost (2) Accrual

(3) Imprest (4) Balancing

D) Soren FGresor S (808 SEED 3 Ixe.

(1) Sgab 3§D (2) JoJ;ES 3G

3) o] ¢ 4) dogo &S
“Cheques issued but not yet presented for payment”, then cash book balance is
(1) Decreased (2) Increased

(3) Same (4) Aboveall

“ed 3D Do DYOYIH TP SIVEC™ 3g JHD HREJ dog
(1) &HSd (2) DHHSHDD

(3) oDy SO 4) D3N

Credit balance in the cash book means

(1) Favourable balance (2) Overdraft balance
(3) Same balance (4) None of the above
SKEH SO BG83 dog BrHGEo I

(1) %o Jog | (2) &30Eg dog

(3) :3556‘ Sy SOGED 4) DY

[25]
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121.

122.

123.

124.

125.

Statement showing the particulars of the returns outward of good,sh::

(1) Debit Note . (2) CreditNote L
(3) Invoice I . (4) Account Sales )
S$ODS HHY T ISBSnen BOAHIAD VDY

(1) GO SeS 2) RBAS IS

(3) [OTONVD (4) ©F)Ptn DSy

Statement that is prepared to prove Arithmetical Accuracy of Accounts :

(1) Balance Sheet (2) P &L Account
(3) Tnal Balance (4) All the above

908K e PSS HHer DO50LE SAird DA IO

(1) &R, &Sy 5¢) 2) SYSH HOG ovg, Sapo FE°
(3) eoer | (4) DS
Journal proper records the following :
(1) Cash payments (2) Bills payable
(3) Bills receivable (4) Opening entry
o0 DETE’ & 308 ©o¥sw 85 BN
(1) 3K 3YoHen 2) oD Heyew
(3) S350 Heyew (4) @S0 3&
Trade discount allowed recorded in following book :
(1) Sales book (2) -Cash book
(3) Joumal (4) None of the above
$§5:9 ARPEnd J HRESE' 6575 Ikt ?
(1) ey50 HIso . (2) SHD HJBo
(3) Deg @) =Y
Difference of totals of both debit and credit side of Trial Balance is transferred to
(1) Suspense Account ' (2) Trading Account
(3) Difference Account (4) Miscellaneous Account

056576’ GDET SHBASD BELS 3590 &5 G0 O B YN ?

(1) OTDH P 2) S§EH e
3) 8o g 4) Igro o
[26]

126.

127.

128.

129,

130.

Which of the following errors are not revealed by the Trial Balance ?

(1)  Errors of commission (2) Compensating error
(3)  Errors of Totaling ’ (4) Aboveall

& (800 83y eoser 39 I0é 200

(1) o558 Sdypen (2) DOE SJypew

(3) ¥d5eé’ SJype (4) Z);S:?)J

Free samples credited to which Account ?

(1) Sales Account (2) Trading Account
(3) P &L Account | (4) None of the above
GO FoNS DS J PrErH BES DD ?

(1) E‘;ﬁ)&?ﬂ Pese
(3) o, Sy o

() S8y To
(4) DI Y

Find out gross profit, if Sales ¥ 4,000; Closing stock ¥ 1,500; Opening stock T 1,250;
Wages ¥ 500.

@yseen &, 4,000; S0A0YH SHH r. 1,500; 0 S e, 1,250; ISre
&, 500 00T Sro ovgl) SHTS0G.

(1) 3,500 (2) 4,000

(3) 3,750 4) 4,250

Which of the following is NOT an Intangible Asset ?

(1) Copy rights | (2) Patent rights
(3) Investment (4) Goodwill

52 (308 T°¢36° Do &y S°ID.

(1) 53 (2) DBoeS e
() deyedbe 4) 108625

Income earned but not received is shown in
(1) P &L Account _ (2) Asset side of Balance Sheet
(3) Liabilities side of Balance Sheet (4) None of the above

50300 388 T eTr0Ir) IHE WrHTH ?

2) &) - eSpo 34 8o 3P
@) ISP

(1) &gl - 3o Fo°
(3) Hg-@ﬁyoéég OSPO D

[27] Turnover
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131.

132.

133.

134.

135.

Due date is calculated by adding days of grace : |
(1) 2days D@ By b v

(3) 4days (4 Zerodays: . tinn ot
K0P B8 YOI YRS Brey I Seopaedy 20 1 T
(1) 2 B350 () 3055w
3) 4Q33nw @) ‘0’ BSSvey

Which of the following is NOT a Negotiablc Instrument ?
(1) Bill of exchange (2) Cheque
(3) Letter of Credit (4) Promissory Note

& 308 706" g0 Bk S|o IO

(1) VoD Hew (2) By

(3) 3858 &80 4) Db Sew
Cancellation of the old bill and drawing a new bill is called

(1) Renewal . ' (2) Retire

(3) Honour (4) Dishonour
S D 8 B, 5 HRD oo AHGER) D0 ?

(1) 3553 (2) DS

(3) e85 " (4) 80

Calculate discount of the bill worth ¥ 10,000 for 3 months, discount at the rate of 12%,
Bill discounted after one month of acceptance.

3 oo KD Ko, &r. 10,000 IenSKe, 12% Epen Hepid Jo SHTS &R

DS, GAMOeD Jods ?

(1) 100 (2) T200
(3) 300 (4) T 400

The foliowing method of depreciation is accepted by Income Tax Act, 1961 :
(1) Annuity Method (2) Sinking Fund Method

(3) Straight Line Method (4) Diminishing Balances Method
&e (300 550 eTaHY 3 $80 1961 J 8IrdoBASD.
(1) =QE388 (2) SHIOSO YIS

(3) 6B 558 (4) SRS Dogo 538

28]

136. Obsolescence means decl

137.

138.

139.

140,

; ne in the value of asset due to
(1) fallin the market price (2) wear and tear

(3) innovation and inventions (4) All the above
D 575830 B¢ &0 Ao SINBOD WP ot ?

(1) S 66 sifysse
(2) DO, BHH

(3) S 50> HOD SMSS Chosrey
(4) Db |

An old plant purchased for ¥ 25.000 and paid ¥ 4,000 for transport, ¥ 3,000 for repairs
and T 2,000 for installation. Calculate the amount debited to Plant Account.

88 D Jodn e, 25000 H o' 3D, Jotod Er. 4,000 ETETD, K. 3,000
DR HOD, . 2,000 IS DYoTh. PoLVFTTD Jods BT BSO KO S0d ?

() ¥29000 (2) ¥34,000 (3) ¥32,000 (4) 31,000
The relation between the consignor and consignee is that of

(1) Partners (2) Buyer and Seller

(3) Pnncipal and Agent (4) None of the above
SISV 200 LS Disifo Sowodo.

(1) e 2) SORTD, ednSomrd
(3) CHeErd - 90 4) ISP

Consignment Account is

(1) Personal Account (2) Real Account

(3) Nominal Account (4) Aboveall

EPRRD0L T J PED 300358 ?

(1) 35848 gro 2) TR o

(3) THIED TO @) 5

To avoid the risk of Bad Debts the consignor provides commission to consignee is
known as

(1) Commission (2) Ordinary Commission
(3) Delcredre Commission (4) Over-riding Commission
oderdo Sg $DA 53D $00EDS ETpTE E58 YOS KNS
(1) EH5S (2) JEes XS
(3) BSEEb ssS @) o559 oS
[29] - Turnover



141,

142.

143.

I“'

145.

Normal Loss is due to

(1) Loss of Fire (2) Loss of theft o
(3) Loss due to Accident (4) Loss due to inherént naturé of goods

& (800 wo¥SNOS” Fgriies HaLIS HowoRPoIIE
(1) o) (S50 S0
(3) eSS S0

(2) &onssS SHo - |
(4) SHPH DoY) osLS ofe0 SQ SR

Find out non-recurring expense incurred by consignee.

(1) Godown Rent (2) Octroi

(3) Selling Expenses (4) Commission
529 2003 HITSyEo S P

() Agoh &g ) ego

(3) OIEY Py (4) 5D

What is the example of deferred revenue expenditure ?

(1) Salaries (2) Commission
(3) Preliminary Expenses (4) None of the above
Dood)d ol ;oIS ST |
() dow (2) SIS
(3)  (rEE pEnw (@) ID

What are the items not recorded in the Income and Expenditure Account ?
(1) Capital (2) Revenue
(3) Subscriptions (4) None of the above

&8 (308 A& esoraH S Pred” oo 0T ?
(1) 305088 Ko (2) TG oD

3) Soorew (@) DY

What is the average period (in months) for calculating interest if the drawings .

withdrawn at the beginning of every month ?
50 o DGogs BOS Jod TES W TAEASS :acfbaézpé;wba’a 500 3@35:

(1) 4.5 | ) 5.5
(3) 65 @ 15 ¢
[30]

146.

147.

148.

149.

150.

M and N are partners sha

nn th 1 . 1 - %) L) it th
share. Calculate Sacrifici g the profits in 3 : S ratio. They admltted P’ by giving 1/8

ng_RﬂﬁO: i
M 58050 - - T 1/8 S0
N ©3:5 3586 ogres 50083 griige. T8 1/8 508 TP i

P D I BTth. erprs 254G SO0,
(1) 5:3 -

: (2) 3:5
(3) 3:8 e e (M) 755

XYZ are partners sharin

. g profits in the ratio of 5: 3 : 2. Cal '
ratio if Z retires. ‘ 1801001 a Eulate new profit sharing

XYZ @ 5:3:2 35586 oviren, S0ES grryen. Z AEWY §F ooy - Sago
D58 '

) e 2 5:2
3) 5:3 4) 5:4

Which one of the following is the registered capital of the company ?
(1) Paidup Capi}al (2) Authorised Capital
(3) Reserve Capital (4) , Called up Capital

52 (208 T°0&° 5029 S Saresso Do 2

(1) 39ods Soresso 2) @85S Soroiso

(3) Oethy Swregsso (4) ODS Soressso

Accounting package suitable to small business organizations and limited users is
(1) Ready-to-use (2) Customised

(3) Tailored ~ (4) None of the above

S 8080 T8 T8 CTBa SPT &od, DF) SFHe &3ArA0S ©Fot3oh
FS2 2D ?

(1) B4 e asores ) SHdf
(3) 8of 4) DITH

Capital on 01-04-2013 ¥ 48,000; Drawings T 15,000; Additional Capital T .9,000;
Capital on 31-03-2014  54,000. Find out profit.

01-04-2013 & Saredido &r. 48,000 Do TES &, 15,000; 955 Soredso

. 9,000; 31-03-2014 &3 SoreESSo 8. T 54,000. 075 SRS,

(1) 12,000 _ () 22,000
(3) - 10,000 (4) <32,000

[31]



